
Name: _________________________________      Date: _____________ 
 

Day 2: Order of Operations     

 

 
 
 
 
 

 

 
 
 
 
 
 
 
 
 
 
 



Model  
Rules for Order of Operations 

                         Example # 1  
 
                                                                                            Steps  

Evaluate Steps  
Example # 2 
 
5 – 3 + 6 
 
 
 
 
 
 
Solution:__________ 

1.     
  

2.    
     

3.      
   

4.  
 

Example #3 
20 ÷ 4(6)  
 
 
 
 
 
 
 
 
Solution:__________ 

1)     
 

2)     
 

3)     
   

4)  
 
 
 

Example #4 
52 – 10 ÷ 5 
 
 
 
 
 
 
 
 
 
Solution:__________ 

1)    
 

2)     
 
3)      

    
4)    
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Example # 1 
Evaluate the expression below. 
Show your work.  
 
10 – 7 + 9 
 
 
 
 
 
 
 
Answer: ________________ 

Steps 
1.      

 
2.    

 
3.     

 
4.  

Example # 2  
Kylee tries to evaluate 5 x 1 + 6, as shown below. 

1)  5 x 6  
2) 30 is my answer.  

After Ms. Napolitano collected Kylee’s work, she 
 realized that Kylee was incorrect. Explain why her 
answer is incorrect, then state the correct answer.  
 

÷ 

 

 

Example # 3 
Evaluate the expression below. Show your work.  
5 + 32 – 10 
 
 
 
 
 
Answer: ________________ 

Guided Practice:_ 
Evaluate Steps  

Example # 1 
 
(6 – 4)3 + 8  
 
 
 
 
 
 
 
 
 
Solution:__________ 

1.     
  
2.  
     
3.   
   
4.  

 

Example #2 
42 – 3 x 3 + 7 
 
 
 
 
 
 
 
 
 
 
Solution:__________ 

1.    
 
2.     
 
3.     
   
4.  
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Example #1  
7 – 4 + 9 
 
 
 
 
 
 
 
 
 
 
Solution:__________ 

Example #2  
7 + 4 – 9  
 
 
 
 
 
 
 
 
 

Solution:__________ 

Example #3  
16 ÷ 2 + 32 

 
 
 
 
Solution:__________ 

1)   
2)    
3)     
4)  

Example #4  
18  + (9 – 3) ÷ 3 
 
 
 
 
 
 
Solution:__________ 

1)   
2)    
3)    
4)  

Example #5  
42 + 13 

 
 
 
Solution:__________ 

1)   
2)     
3)     
4)  

Example #3 
Two students simplified the expression below. Susan said that the answer is 16 and Richard said the answer is 17. Which 
student is correct?  What error do you think the student who had the incorrect answer made? 

Susan’s Work Richard’s Work 

  
 = 5 x 4 – 8 ÷ 2 = 5 x 4 – 6 ÷ 2 
 = 20 – 8 ÷ 2 = 20 – 6 ÷ 2 
= 20 – 4  =  20 - 3 
= 16 = 17 
 

 
 

 

 



Guided Practice  
Evaluate Steps  

Example # 2 

 
 
 
 
 
 
 
 
 
 
 
Solution:__________ 

 
 

Example #3 

 
 
 
 
 
 
 
 
 
 
 
 
 
Solution:__________ 

 
 

Example #4 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Solution:__________ 
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Example # 1  
 
 
 
 
 
 
 
 
 
 
  
 
Answer: ___________________ 

 

Example # 2 
Evaluate the expression below. Show your work.  
 
15 – (12 – 7)2 ÷ 5 

 

Example # 3  
Kylee tries to evaluate 42 x 1 + 6, as shown below. 

 
After Ms. Napolitano collected Kylee’s work, she 
 realized that Kylee was incorrect. Explain why her answer is 
incorrect, then state the correct answer.  
 

 

 

 

 

 

 

Example # 4 

 

 



Name: _________________________________    Date: _______________ 
Ms. Napolitano         Oder of Operations  

Day 2 

Independent Practice  

 
 



  Steps  
 
 
 
 
 

 
 
 
Answer: _________________ 

 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 

Answer: _________________ 



Name: _________________________________    Date: _______________ 
Ms. Napolitano         Oder of Operations  

Day 2  

Practice Makes Perfect 

 

 
 



 
Answer: _______    Answer: ________   Answer:_____ 

 
 
 
 
 
 
 
 
 
 
 
 

Answer: _______    Answer: ________   Answer:_____ 
 

 
 
 
 
 
 
 
 

Answer: _______        Answer: ________ 
   



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 

 

 


